USER MANUAL
30-inch Round Firepit

9

A PLEASE READ ALL RULES FOR SAFE OPERATION AND HELPFUL HINTS BEFORE USING.

WARNING: FUELS USED IN WOOD OR CHARCOAL BURNING

APPLIANCES, AND THE PRODUCTS OF COMBUSTION OF SUCH FUELS, CAN EXPOSE YOU TO CHEMI-
CALS INCLUDING CARBON BLACK. WHICH IS KNOWN TO THE STATE OF CALIFORNIA TO CAUSE CANCER,
AND CARBON MONOXIDE, WHICH IS KNOWN TO THE STATE OF CALIFORNIA TO CAUSE BIRTH DEFECTS
OR OTHER REPRODUCTIVE HARM. For more information go to: www.P65Warnings.ca.gov

Attention: This instruction contains important safety information, please read it carefully
and keep it for future reference.

NOREAST OUTDOORS
11 JONATHAN BOURNE DRIVE
POCASSET, MA 02559

OUTDOORS NOREAST-OUTDOORS.COM




Attention:

@ Keep the outdoor firepit assembled in a cool, dry location away from
children and pets.

@ During the assembly, please be wary of sharp corners and edges of
the metal parts, it is recommended to wear protective gloves during
assembling.

@ Please check the number and condition of the parts according to the
parts list. If any parts are defective or missing, please contact us at
once.

@ It is kindly advised to assemble the product on a carpet to protect
your floor from being scratched.

@ For the purpose of a time-saving and hassle-free assembly, please act
in compliance with the step-by-step instructions. Any unauthorized
modification to this item will void its warranty.

@ Please check the tightness of all connections of parts periodically.

@ The seller bears no responsibility and/or liability for any personal
injury and/or property damage arising from improper use or incorrect
assembly of the firepit.

@® How to use firepit tools:

a. Use the long-handled firepit tool to remove spark guard by wearing heat-resistant
gloves.

b. Don’t add any additional wood until embers are lit.

c. Place additional wood on top of lit embers carefully and ensure there are gaps
among embers and wood. (Only dry and seasoned hardwood should be used)

d. Poke coals and logs to increase airflow with the firepit tool.

e. Put back spark guard with the firepit tool by wearing heat-resistant gloves.




Parts List

Check to see if all parts and hardware are included as shown below.
Any part missing, please feel free to contact us.

Note: There is no need to disquiet about excess hardware parts after
correct assembly, just keep them for repairing or replacement.

Protective Gloves

(Not Included)

Phillips Head Screwdriver

T—=

Open End Wrench

M6 * 12 mm Screw *4 pcs
(connect ring section to bowl)

M6 * 8 mm Screw *4 pcs
(fasten 4 outer rings)

’\

[

M8 * 6 sets for leg

W

M6 Nut * 4 pcs

(connect ring section to bowl)

Leg * 3 pcs

w %
Wﬁ/ st |
el

Bowl * 1 pc

Outer Ring * 4 pcs

BBQ Grill *1 pc

Spark Guard * 1 pc

Porker * 1 pc




ssembly Steps

Attach 3 Legs to Bowl with 6 Screws and 6
flat washers.

Use 1 Screw and 1 Nut to attach 1 Outer Ring to
Bowl,then interlock 4 Outer Rings to each other

and use 3 Screws and 3 Nuts to attach them to
Bowl.

Atteantion:

Please leave all the Screws
a-quarter-turn loose
before all parts are set.




Assembly Steps

Use 4 Screws to fasten 4 Outer Rings.

=
o
s,
c
o
O
—
©
-
O
v
—
©
Q.
)
©
c
©
m
O
o
s
s
@
O
@©
o

o
S
TN

o)
A

-

i
!




Assembly Steps

Complete

g =
T

vk

Poker is recommended if you want
to remove Spark Guard when it's
not cooled down completely.




Care and Maintenance

@® Don't use charcoal briquettes, drift wood, manufactured logs,
trash, leaves, paper, plywood, pine, cedar, gasoline, kerosene, diesel
fuel, lighter fluid or alcohol to light the fire.

@® Don't use firepit on or around flammable objects, such as wood,
plastic, etc. or near a side wall.

@® Don't place the firepit near the fire or heat sources to avoid fire
accident.

@® Don't place hot firepit tools onto combustible objects such as
grass, wooden furniture.

@® Don't allow children to operate the firepit, don’t leave children and
pets alone around a lit firepit, keep a safe distance when in use.

@® Don't overload the firepit. If any part of the firepit starts to turn
red, that means it is overloaded.

@ Please remove and dispose of the ashes properly after the fire is out
and outdoor firepit is cool, don’t put out fire with water.

@ This appliance is applied to outdoor area only and should not be
used in a building, garage, or any other enclosed area. Please keep
the product away from the wind and rain, don’t bump or cast it.

@® Don't use corrosive cleaners for cleaning.




READ FIRST! RULES FOR THE WARNING! CARBON MONOXIDE

SHOOTING STARS OUTDOOR HAZARD! DO NOT BURN IN
FIRE PIT SAFE OPERATION. ENCLOSED AREAS!
- THIS FIRE PIT IS FOR OUTDOOR USE ONLY! BURNING WOOD OR CHARCOAL PRODUCES CARBON
- USE ONLY ON BRICK, CONCRETE, STONE OR OTHER MONOXIDE, WHICH HAS NO ODOR AND CAN CAUSE
MASONRY SURFACES! DEATH IF BURNED IN ENCLOSED AREAS. NEVER BURN
- DO NOT USE ON LAWNS, WOODEN DECKS, COMPOSITE ~ WOOD OR CHARCOAL INSIDE HOMES, VEHICLES, TENTS
DECKS, ASPHALT OR ANY COMBUSTIBLE SURFACE. OR ANY OTHER ENCLOSED AREAS.

+ KEEP THE FIRE PIT A MINIMUM OF 10 FT. AWAY FROM
BUILDINGS, STRUCTURES, ANY FLAMMABLE ITEMS AND
VEHICLES.

+ NEVER USE UNDER LOW HANGING TREE BRANCHES, .

TRELLIS, OVERHANGS OF ANY KIND INCLUDING HELPFUL HINTS:

COVERED PORCHES.

- WARNING! NEVER USE GASOLINE, ALCOHOL OR - KEEP THE FIRE PIT OUT OF THE WEATHER AND
VOLATILE FLUIDS TO START OR RESTART FIRES. ELEMENTS.

» DO NOT USE THE OUTDOOR FIRE PIT WHILE IMPAIRED . 5TORE THE FIRE PIT IN A DRY LOCATION
BY ALCOHOL OR ANY OTHER SUBSTANCE. OUT OF THE WEATHER.

- FOR LONGER PRODUCT LIFE, KEEP FIRES TO A - DO NOT DUMP ASHES WHERE A FIRE CAN BE
RESPECTABLE SIZE, DO NOT OVERLOAD. STARTED.

» DO NOT THROW FIREWOOD INTO THE FIRE PIT, ADD - DISPOSE OF ASHES IN PROPER RECEPTACLE ONLY
FIREWOOD BY CAREFULLY PLACING INTO THE AFTER ASHES HAVE COOLED.

FIREBOWL. - USE ANY COVER ONLY AFTER THE FIRE PIT IS

- THE OUTDOOR FIRE PIT IS FOR ADULT USE ONLY. COMPLETELY COOL TO THE TOUCH.

- ADULTS NEED TO KEEP WATCH AND SUPERVISE . STORE THE FIRE PIT IN AN AREA S0 THAT IT
CHILDREN AND PETS WHEN AROUND THE FIRE PIT WON'T BE PRONE TO TIPPING OVER AND BEING
DURING USE. A HAZARD

» AVOID BEHAVIOR THAT COULD CAUSE THE FIRE PIT TO '

TIP OVER.

+ KEEP LOOSE CLOTHING AWAY.
+ DO NOT LEAVE UNATTENDED AT ANY TIME WHILE IN
USE. CLEANING
- DO NOT MOVE THE FIRE PIT DURING USE.
+ DO NOT USE IN WINDY CONDITIONS!

+ DO NOT OVERLOAD OR USE FOR BURNING GARBAGE. For best results, the fire pit should be cleaned after every use.
+ USE CAUTION WHEN TENDING THE FIRE, AS SURFACES  Make sure fire pit is cool and all embers are extinguished before

WILL BECOME VERY HOT WHILE IN USE. cleaning.
+ ALWAYS USE THE SPARK GUARD DURING USE.
« USE MITTENS OR GLOVES WITH THE POKER TO If any remaining firewood needs to be removed, use poker or

REMOVE THE SPARK GUARD, THE SPARK GUARD WILL shovel to remove. Any sand can be reused.
BECOME VERY HOT!
+ USE CAUTION WHEN REMOVING THE SPARK GUARD, AS Dispose of ashes in proper receptacle only after ashes have

HOT STEAM OR A FLARE UP COULD CAUSE BURNS. cooled. Do not dump ashes where a fire can be started.
« BEFORE EACH USE MAKE SURE THE FIRE PIT IS IN
GOOD WORKING CONDITION. If the fire pit needs to be cleaned, use a mild soap and water
+ USE CAUTION AFTER THE FIRE HAS BEEN with a soft rag. Dry thoroughly to prevent rust.
EXTINGUISHED, SURFACES WILL REMAIN HOT FOR
SOME TIME. Occasionally, the fire pit finish will need to be refinished. Use a

* THE FIRE PIT MUST BE COMPLETELY COOLED OFF AND high quality, high heat paint to renew the finish.
ALL EMBERS MUST BE EXTINGUISHED BEFORE ANY
COVER CAN BE USED.

+ CHECK LOCAL LAWS AND CODES BEFORE USING. 5}

é“g;@ & A

OUTDOORS
~— HOT!

A WARNING! A WARNING! 11 JONATHAN BOURNE DRIVE

NEVER USE GASOLINE, HOT SURFACES DURING

sicororonvorarie W voe, Uk vl pocen POCASSET, MA 02559
NOREAST-OUTDOORS.COM

RESTART FIRES.




